¥£4 3400-CN fRifESL

BREL iR QHPA %371

QHPA %7

B
) Y
( .._'“' ﬁﬁE:‘ N o
i S - IBEGE TR b
te ) . Bt 1
« SNEREEE, WHILRAHENRS i
- t{uﬂ
o s N :IE']‘\<'
= RIF%:
U - RAHUH A
. TR |

« TAlRER S

o
QHPA 273 - EREH o
HERT TS REE i TP '4%
3/8 450 1%5
112 400 B
-25°C E +110°C TREM, HE5R T BE%EL =
34 370
1 300 B
iE:
FEEN: EHARRBRKREHERTIEES, EhREAEARZIHNEATEENARNZRTREREZELER. BEATEEESNE R
ilR=
RE - ERihL.

MIAGReE: i (KAE43cSt, iRE38°C)
MiRFRAE: 1SO 7241/2-2000

4 6 6 o 6 ;
" 1/2" 4" "
3/8 / 5 / 5 / 5 /
3
= 4 54 = 4 T4
s / S, s, / s,
g ° / ) £ / 8 /|
M / H 2 / H 2 / b 2 /
1 /
/, 1 // 1 Y ’ P
0 0 0 0
0 20 30 40 50 60 0 25 50 75 100 125 0 100 200 300 400 500 0 100 200 300 400 500
FRE (I/min) HE (/min) e (I/min) i (/min)




¥tZ 3400-CN RSk
QHPA %7 PRLE R

QHPA %31 - pA#EL
HEX1 HEX
e milEZe
e - HHEEHRE
R Sy
X :
-
R 24° $#ESMELL 24° HESMELL - BRIRT
i{g ZF_FFRT]' Bns 125 A WMEIMZ A1 %31 I{EEN | "M HEX |RAHEX1| SBRL |(RiEkE L1
o inch RSN - 24°4 mm bar mm mm mm mm
3/8 QHPA53-D6X2-C M14 x 1.5 8 L 450 22 24 62 10
A 3/8 QHPA53-D6X3-C M16 x 1.5 10 L 450 22 24 63 11
3/8 QHPA53-D7X3-C M18 x 1.5 10 S 450 22 30 64 12
3/8 QHPA53-D7X4-C M20 x 1.5 12 S 450 22 24 64 12
1/2 QHPA54-D6X4-C M18 x 1.5 12 L 400 30 30 68 11
1/2 QHPA54-D6X5-C M22 x 1.5 15 L 400 30 30 69 12
1/2 QHPA54-D7X5-C M22 x 1.5 14 S 400 30 30 71 14
I 12 QHPA54-D7X6-C M24 x 1.5 16 S 400 30 30 71 14
;.E»( 3/4 QHPA56-D6X6-C M26 x 1.5 18 L 370 41 41 95 12
F%/ 3/4 QHPA56-D6X7-C M30 x 2 22 L 250 41 41 97 14
g& 3/4 QHPA56-D7X7-C M30 x 2 20 S 370 41 41 99 16
g{ﬁﬁ 3/4 QHPA56-D7X8-C M36 x 2 25 S 370 41 41 101 18
I"%i 1 QHPA58-D7X9-C M42 x 2 30 S 300 55 65 114 20
B FHERT Bs 8B A MEIME A1 z3) T{EED | "AHEX (A HEX1| BRKL |RigkE L1
inch TR - 24°HEFRHR mm > bar mm mm mm mm
3/8 QHPA53-E6X2-C M14 x 1.5 8 L 450 22 24 76 25
3/8 QHPA53-E6X3-C M16 x 1.5 10 L 450 22 24 78 26
3/8 QHPA53-E7X4-C M20 x 1.5 12 S 450 22 24 78 27
1/2 QHPA54-E6X4-C M18 x 1.5 12 L 400 30 30 87 30
1/2 QHPA54-E6X5-C M22 x 1.5 15 L 400 30 30 84 27
1/2 QHPA54-E7X6-C M24 x 1.5 16 S 400 30 30 86 29
3/4 QHPA56-E6X6-C M26 x 1.5 18 L 370 41 41 115 32
3/4 QHPA56-E7X7-C M30 x 2 20 S 370 41 41 121 38
3/4 QHPA56-E7X8-C M36 x 2 25 S 370 41 41 121 38
1 QHPA58-E7X9-C M42 x 2 30 S 300 55 65 134 40

*L: BRI S: ERF

HARSTR#ESE, BHUALR~RRT k.




¥tZ 3400-CN RSk
PRSERERY QHPA %5

QHPA #71 - pE#E:L
HEX1
jﬁ
24° $#ESMELL 24° HESMELL - BRIRT N
- Py = = 3
wRS| BE | e | Ta | e | TEED | 05| Gga | ek | RERE RGRR ) g
mm mm mm mm mm
3/8 QHPA13-D6X2-C M14 x 1.5 8 L 450 22 30 59 10 34 A
3/8 QHPA13-D6X3-C M16 x 1.5 10 L 450 22 30 60 1" 34
3/8 QHPA13-D7X3-C M18 x 1.5 10 S 450 22 30 61 12 34
3/8 QHPA13-D7X4-C M20 x 1.5 12 S 450 22 30 61 12 34
1/2 QHPA14-D6X4-C M18 x 1.5 12 L 400 30 36 62 1 42
1/2 QHPA14-D6X5-C M22 x 1.5 15 L 400 30 36 63 12 42
1/2 QHPA14-D7X5-C M22 x 1.5 14 S 400 32 36 65 14 42 Jg(ﬂl
1/2 QHPA14-D7X6-C M24 x 1.5 16 S 400 30 36 65 14 42 d,R(
3/4 QHPA16-D6X6-C M26 x 1.5 18 L 370 41 50 79 12 55 FX/
3/4 QHPA16-D6X7-C M30 x 2 22 L 250 41 50 81 14 55 m
3/4 QHPA16-D7X7-C M30 x 2 20 S 370 41 50 82 16 55 s{ﬁ
3/4 QHPA16-D7X8-C M36 x 2 25 S 370 41 50 85 18 55 li%(
1 QHPA18-D7X9-C M42 x 2 30 S 300 55 80 118 20 85
B
r . . w
wars| B8 | e | A wee | TEED | 05| g | seL | FERE RS
mm mm mm mm mm
3/8 QHPA13-E6X2-C M14 x 1.5 8 L 450 22 30 74 25 34
3/8 QHPA13-E6X3-C M16 x 1.5 10 L 450 22 30 75 26 34
3/8 QHPA13-E7X4-C M20 x 1.5 12 S 450 22 30 76 27 34
1/2 QHPA14-E6X4-C M18 x 1.5 12 L 400 30 36 81 30 42
1/2 QHPA14-E6X5-C M22 x 1.5 15 L 400 30 36 78 27 42
1/2 QHPA14-E7X6-C M24 x 1.5 16 S 400 30 36 80 29 42
3/4 QHPA16-E6X6-C M26 x 1.5 18 L 370 41 50 102 27 55
3/4 QHPA16-E7X7-C M30 x 2 20 S 370 41 50 104 27 55
3/4 QHPA16-E7X8-C M36 x 2 25 S 370 41 50 105 38 55
1 QHPA18-E7X9-C M42 x 2 30 S 300 55 80 138 40 85

*L: BRY; S: ERY

HARSTR#ESE, BHUALR~RRT k.




eS8 A

‘ > BE, #

KR &

v
EY

0 EEs

A 3400-CN

QHPA %37

QHPA 2R3 - B &

o~

4
AERT Bs Bns
inch PREESLBr R = PHEESLBA
3/8 QHPA13-DC ARY: o) QHPA53-DP PARCY: Lo
172 QHPA14-DC AR:Ec; oF QHPA54-DP AR=E 1 o]
3/4 QHPA16-DC AR-Y o) QHPA56-DP ARCX: Lo
1 QHPA18-DC ARk ] QHPA58-DP pINE

QHPA 271 - kL ZEHE

FERT

inch
3/8
1/2
3/4

Bs
NBR/PTFE

QHPAS53-KIT
QHPA54-KIT
QHPA56-KIT
QHPAS58-KIT

‘BRI Sk
BRET R

C-50

H7ZK 3400-CN



